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tcartsbA —  gnisu srebmun lamiced fo gnissecorP

 dna aera fo smret ni yltsoc eb ot sdnet metsys yranib
 na yltneiciffe snoitarepo lamiced ezilaer oT .deeps

hcaorppa devorpmi   snoitidda lamiced tnemelpmi ot
6 no desab si hcihw desoporp si -  tsaf dna sTUL tupni

 htiw desoporp si erutcetihcra wen A .sniahc yrrac
 ehT .noitcuder yaled htap lacitirc no sisahpme
 xniliX no detnemelpmi si erutcetihcra redda

xetriV - sezis dnarepo rof AGPF 6   .stigid 81 ot 2 morf
 ni sehcaorppa rehto demrofreptuo sah ngised eht
 yaled eht ,egareva nO .yaled dna aera fo smret
 %9.82 si gnivas TUL dna %1.31 si noitcuder

ssecxe .redda DCB lanoitnevnoc a ot derapmoc -  3
.metsys siht gnisu detnemelpmi si noitidda  

 
xednI  smreT —  yaled htap lacitirc ,sreddA DCB

6 ,niahc yrrac tsaf ,noitcuder - xetriv xnilix ,TUL tupni -  6
.AGPF   

 
.I  NOITCUDORTNI  

   suoirav ni deriuqer era snoitatupmoc lamiceD
 ,lortnoc lairtsudni ,tenretni sa hcus ,snoitacilppa

eceR .smetsys laicremmoc dna laicnanif  na si ereht yltn
 snoitazilaer erawdrah tneiciffe rof dnamed gnisaercni
 eht ot del osla sah sihT .snoitacilppa eseht ni deriuqer

EEEI eht fo noisiver noitacificeps - 457 -  dradnats 8002
gnitaolf rof -  lamiced eht etaroprocni ot citemhtira tniop

1[ tamrof -  .]2  
  
A  ,smetsys emit laer fo noitazilaer erawdrah yna ni s

 hgih eveihca ot tnemeriuqer a syawla si ereht
 lamiced ,revewoH .tsoc wol a ta ecnamrofrep
 ,snoitazilaer erawdrah eht dna serutcetihcra citemhtira
 syarrA etaG elbammargorP dleiF ni ,ylralucitrap

ah )sAGPF(  .erutaretil eht ni delkcat ylluf neeb ton ev
 fo noitatnemelpmi eht rof sdohtem tneiciffe ,eroferehT
 morf noitnetta erom gniviecer era snoitarepo lamiced

.srengised erawdrah  
 

 si noitarepo nommoc tsom eht ,noitatupmoc lamiced nI
dda lamiced reilraE .noitidda  eht ta dengised erew sre

 
 guA deviecer tpircsunaM 18 02 , 14 

     akipeeD iaS .M  ,  )ISLV( hceT.M ralohcs tnedutS.G.P
e nahtekinaydiv eerS tnemtrapeD ECE enign  egelloc gnire

)suomonotuA(  
baB hseraN .M  ,u     eers ni rosseforP tnatsissA

aidnI ,ihtapuriT ,egelloC gnireenignE nahtekinaydiV  

3[ sCISA gnitegrat level etag -  .]6
yraniB - dedoC -  noitatneserper rebmun )DCB( lamiceD

 ni dezilitu semehcs emoS .sngised eseht ni desu saw
 DCB eseht ni deyolpme osla erew sredda yranib
 saw redda DCB yaled decuder a ,]3[ nI .snoitidda

p  DCB fo yaled eht devorpmi hcaorppa sihT .desopor
4 owT .msilellarap gnisaercni yb noitidda -  yranib tib

 etag RO eno dna ,etag DNA eno ,tiucric yrrac a ,sredda
lacitirc eht ni desu erew -  DCB a ,]5[ nI .redda eht fo htap

igol elbisrever gnisu dezilaer saw redda  yrraC .setag c
kooL -  eht pu deeps ot deyolpme saw emehcs daehA

 a desoporp ]6[ ni rohtua ehT .ecnamrofrep
itlum -  devlovni hcihw ,redda lamiced lellarap dnarepo

 DCB niatbo ot redro ni noisrevnoc lamiced ot yranib
ngila ysae na rof swolla noisrevnoc ehT .tluser  fo tnem

 .snmuloc tnecajda fo smus eht  
 

 eht ,ygolonhcet AGPF ni tnemecnavda eht htiW
 fo ytilibaliava dna ,erutcetihcra eht fo ycneiciffe
 eb nac citemhtira lamiced ,secruoser erawdrah suoirav
 ]7[ nI .ycneiciffe fo eerged hgih htiw detnemelpmi

sredda lamiced  eht no desab desoporp erew srotcartbus/
 a ]8[ nI .sAGPF ni )sTUL( selbaT pU kooL fo esu

itlum -  dna detneserp erew seert redda lamiced dnarepo
6 eht no desab dezimitpo -  yrrac tsaf eht htiw sTUL tupni

yrraC .sniahc -  redda eht ni desu erew sredda DCB elppir
eert  .yaled htap lacitirc eht ni esaercni na ot del hcihw ,  

 yrrac devorpmi na ,repap siht nI -  si redda DCB elppir
 nehW .noitcuder yaled htap lacitirc gnitegrat detneserp

xetriV ’xniliX otni detnemelpmi -  deveihca ew ,AGPF 6
tcuder aera dna tnemevorpmi deeps htob  .noi  

  2 noitceS .swollof sa si repap siht fo noitazinagro ehT
 desu erew taht sredda lamiced gnitsixe emos secudortni
 devorpmi ehT .esoprup nosirapmoc rof repap siht ni
 nI .3 noitceS ni detneserp si hcaorppa redda DCB

moc dna snoitatnemelpmi eht ,4 noitceS  fo nosirap
 ni nevig era snoisulcnoc eht dna ,debircsed era stluser

.noitces tsal eht  
 

.II  SNOITIDDA DCB DETALER  
 

 reddA DCB lanoitnevnoC .A  
     1 lanoitnevnoc a nI -  DCB owt ,redda DCB tigid

 yranib a gnisu srebmun yranib sa dedda era sdnarepo
ht neht dna ,redda  DCB ot detrevnoc si tluser yranib e

 ,noisrevnoc DCB ot yranib eht mrofrep oT .rebmun
 .deriuqer era redda yranib rehtona dna cigol noitcerroc

1 lanoitnevnoc eht fo margaid kcolb eht si 1 .giF -  tigid
 .redda DCB  

ssecxE deepS hgiH fo ngiseD - TUL gnisU reddA 3  

 ,akipeeD iaS ydderillaM .M  ubaB hseraN  
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1 lanoitnevnoC  .1 giF - redda DCB tigid . 

 
ehT  :sa desserpxe si 1 .giF ni noitcnuf cigol noitcerroc  

 
C tuo  S = X = 4 S + 3S2 S+ 3S1 
 

 2)0110( ot dedda si redda yranib tsrif eht fo mus ehT
 tcerroc eht etareneg ot ’9‘ naht retaerg si mus eht nehw

  .tluser DCB  
 

elbuoD .B -  reddA DCB elbbiD  
    elbuoD ehT - bbaD  eht sesu redda DCB )DD( el

elbuoD -  noisrevnoC DCB ot yraniB elbbaD
 .rebmun DCB ot mus yranib eht trevnoc ot ]9[mhtirogla
 ta tfel tib eno tluser yranib eht stfihs mhtirogla sihT
 eht fo eulav eht fI .’4‘ htiw serapmoc neht dna ,ecno

naht taerg si stib detfihs   detfihs eht ot dedda si ’3‘ ,’4‘
 esoppuS .tfel tib eno tfihs ot eunitnoc ,esiwrehto ;stib
 eht ,)US( ”tinU detfihS“ dellac era stib detfihs eht

:sa detneserp si mhtirogla  
 

neht   )4>US(   fi  
;3+US=US  

;tfel tfihs   esle  
 

n si mhtirogla siht taht raelc si tI  eht rof tneiciffe to
 eht esuaceb srebmun yranib ezis egral fo noisrevnoc
 yranib fo rebmun eht no desab si snoitcerroc fo rebmun

1 a rof ,revewoH .stib -  evah ew ,noitarepo redda tigid
 eht erehw ,2 .giF ni nwohs sa ngised eht deifilpmis

f eht smrofrep C kcolb gnidda fo noitcnu -  .noitcerroc 3
 owt fo mus eht ,redda yranib a gnisu yb ,yllanigirO

5 a si sdnarepo DCB -  siht trevnoc oT .rebmun yranib tib
5- gnidda owt ,rebmun DCB a ot tluser yranib tib -  3

 )b( 2 .giF ni nwohs sa ,deriuqer era skcolb noitcerroc
revewoH .]9[  yranib eht fo rebmun mumixam eht ecnis ,

si detcerroc eb ot tluser  
 

r[ = R 4r3r2r1r0 niC + B + A =     ]  
                                91 =  
                              2)11001( =   

 
 ,stib detfihs eerht tsrif eseht fo eulav mumixam eht neht

ton si ]2r3r4r[  gnidda pot eht ,suhT .4 naht retaerg -  3
 ,nehT .yrassecen ton si )b( 2 .giF ni kcolb noitcerroc

1 tfel tfihs ot eunitnoc -  ,”tinU detfihS“ eht otni tib
 ,stib ruof eht ecneH .US otni 1r gnitfihs snaem hcihw

dael lliw sihT .4 htiw erapmoc ot desu era ]1r2r3r4r[   ot
 hcihw ,erutcetihcra noisrevnoc DD devorpmi na

gnidda eno ylno seriuqer -  nwohs sa ,kcolb noitcerroc 3
gnidda eht fo noitcnuf ehT .)c( 2 .giF ni -  noitcerroc 3
.1 elbaT ni derutpac si ,C sa deman ,kcolb  

 

 
filpmiS)c(              lanigirO)b(       DCB DD)a( dei  

   noitcerroc                   noitcerroc                 redda  
1 DD  .2  giF - .redda DCB tigid  

 
N r4 r3 r2 r1 C tuo   S3 S2 S1  etoN  
0 
1 
2 
3 
4 
5 
6 
7 
8 
9 

01  
 

51  

  0  0  0  0  
  1  0  0  0  
  0  1  0  0  
  1  1  0  0  
  0  0  1  0  
  1  0  1  0  
  0  1  1  0  
  1  1  1  0  
  0  0  0  1  
  1  0  0  1  
  0  1  0  1  

        .......  
  1  1  1  1  

0   0   0         0  
1   0   0         0  
0   1   0         0  
1   1   0         0  

 0   0   1         0  
0   0   0         1  
1   0   0         1  
0   1   0         1  

1   0         1    1 
0   0   1         1  
x   x    x         x  

       ...........  
      x   x    x         x  

 
 
 
 
 
 dda -3 
 dda -3 
 dda -3 
 dda -3 
 dda -3 

kcolb noitcerroc eht fo elbat hturT . I elbaT  
 

 eht fo stuptuo eht ,elbaT hturT eht ot gnidroccA
gnidda - pxe era noitcerroc 3 :sa desser  

 
   C tuo  r = +4 r3r +1 r3r2 

     S3 r = 4r  + 1 r3r  2

 

̅r

 

̅1 

      S2 r = 4r1

 

̅ r+  3

 

̅r2 r+ 2r1 

      S  1 r = 4r1

 

̅ r+ 4

 

̅ 

 

̅r3r1 r+ 3r2r1

 

̅ 
 

6 .C - TUL - yrrac desab -  redda DCB elppir  
     6 ,sAGPF fo stcudorp rewen nI -  era sTUL tupni

 .niahc yrrac tsaf htiw denibmoc dna desu eb ot elbaliava
pmi ot desu erutcurts siht swohs 3 .giF 1 tnemel -  tib

1 siht gnidacsac yB .redda yranib -  na ,redda yranib tib
n- yrrac tib -    .dezilaer eb nac redda yranib elppir  

 
1 rof AGPF fo erutcetihcrA .3 giF - .redda yranib tib  
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yrrac DCB a ,noitarugifnoc siht no desaB -  redda elppir
hT .]8[ ni desoporp neeb sah yrrac e -  redda DCB elppir

6 eht sesu -  stib tnacifingis 3 tsom eht dda ot sTUL tupni
gnidda yb tluser eht tcerroc dna ,sdnarepo tupni eht fo -  3

3 eht fo mus eht ot -  eht ,dohtem siht nI .noitidda tib
 ro ot lauqe si mus eht nehw demrofrep si noitcerroc

ht retaerg  setag ROX dna niahc yrrac tsaf eht ,nehT .4 na
 dna stib tnacifingis tsael owt eht etupmoc ot desu era
 ni ecniS .4 .giF ni nwohs si erutcurts ehT .seirrac eht
 ,2)1001( ro 2)0001( ,redda DCB eht fo mus eht esac siht

olla dohtem eht ,2)0110( ot dedda neeb sah  eht dew
4-  dilav eb ot ,2)1111( dna 2)0111( ,snoitanibmoc tib

 ,’9‘ dna ’8‘ seulav lamiced fo snoitatneserper
 tsop a ,tluser lanif eht tcerroc oT .ylevitcepser

 .demrofrep eb ot sah noitcerroc  
  :sa desserpxe si redda DCB eht fo tuptuo lanif eht ,suhT  

 
  = S  Z3 Z + 8 ×  2 Z3

 

̅ Z+ 4 ×  1 Z3

 

̅ Z + 2 × 0  
 

 detagaporp si yaled htap lacitirc eht ,hcaorppa siht nI
 rexelpitlum 4 ot tnelaviuqe si hcihw ,tuoC ot niC morf

.syaled  

 
1 DCB  .4 giF - .redda tigid  
 

 
.III  REDDA DCB DESOPORP  

6 no desab osla si redda DCB desoporp ehT - tupni   sTUL
 tupni eht emussA .sAGPF ni sniahc yrrac tsaf eht dna
 oT .tamrof DCB ni B dna A era redda eht fo sdnarepo

6 eht esu -  si sdnarepo tupni owt eht fo hcae ,sTUL tupni
  :strap owt otni desopmoced  

 
                    a[= A 3a2a1a0 a(=] 3a2a1 a+2×) 0 

                                       A= 1 a+2× 0 
                    b[= B 3b2b1b0 b(=] 3b2b1 b+2×) 0 

     B= 1 b +2× 0 
C( sa deman ,redda DCB eht fo tuptuo ehT tuo   S3S2S1S0  ,)

  :sa detneserp si  
 

   StuoC[ 3S2S1S0 C + B + A= ] ni  
                       A[= 1 a+2× 0 B[+] 1 b+2× 0 C+] ni    

     a([= 3a2a1 b(+) 3b2b1 a[+2×]) 0 b+ 0 c+ ni ] 
 

3 a stneserper trap tsrif eht ni noisserpxe eht ,)4( nI -  tib
 lluf a si trap dnoces eht ni noisserpxe eht dna ,redda
 DCB era )4( ni sdnarepo tupni eht ecniS .redda

)1a2a3a( ,sdnarepo eht fo eulav mumixam eht ,srebmun  
 na ,tuptuo DCB a eveihca oT .2)001( si )1b2b3b( ro

gnidda -  fo mus eht no desab demrofrep si noitcerroc 3

 .1C sa deman ,redda lluf eht fo yrrac eht dna )1B+1A(
:sa desserpxe si redda DCB eht fo tuptuo eht ,suhT  

 
C[ tuo S3S2S1S0 Afi)6+B+A(=] 1 B+ 1                                                        dna5≥

C1 Φ =  
         A fi  6+B+A= 1 B+ 1 C dna 4= 1 1=  

A fi      B+A= 1 B+ 1 C dna 4= 1 0=  
A fi     B+A= 1 B+ 1 C dna 4< 1 Φ=  

 
gnidda erehw - gnidda sa emas eht si )B+A( ot 6 -  ot 3

c soiranecs owt ,)5( ot gnidroccA .)1B+1A(  eb na
3 eht ngised ot si enO .yletarapes deredisnoc -  redda tib

gnidda eht htiw -  otni gnikat tuohtiw noitcerroc 3
 eht dna ;redda lluf eht fo yrrac eht fo  noitaredisnoc
 eht rof redda lluf eht fo yrrac eht dda ot si eno rehto

   .redda DCB eht fo tluser lanif  
 
 3 eht redisnoc s’tel ,tsriF -  eht fI .)1B+1A( ,redda tib

 eht elihw 5 naht retaerg ro ot lauqe si )1B+1A( fo mus
 eht fo tluser lanif eht ,’0‘ ro ’1‘ si redda lluf eht fo yrrac
 naht retaerg ro ot lauqe si redda DCB

gnidda eht dna ,01=2×5=2×2)101( - oitcerroc 3  si n
 fo mus eht ot demrofrep eb ot deriuqer

gnidda eht mrofrep ton od ew ,esiwrehtO.)1B+1A( -  3
3 eht ot noitcerroc - 3 sihT .esac siht ni redda tib -  tib

 a sa rehtegot degrem era noitcerroc eht dna redda
6- 6 a gnisu detnemelpmi dna ,noitcnuf tupni -  tupni

iF .TUL  si 2 elbaT dna ,erutcetihcra siht setartsulli 5 .g
3 eht fo elbaT hturT eht - gnidda eht htiw redda tib -  3

.noitcnuf  
 

 
3  .5 giF - gnidda eht htiw redda tib - 6  gnisu noitcerroc 3 -  tupni

.sTUL  
 
 a( 3 a2 a1 b( + ) 3 b2 
b1) 

  F4      F3 F  2 F1                      etoN                 

     
 0  0   0       0   0   0  
 1  0   0       0   0   0  
 0  1   0       0   0   0  
 1  1   0       0   0   0  
 0  0   1       0   0   0  
 0  0   0       1   0   0  
 1  0   0       1   0   0  
 

         ........  
  0  0   0       0   0   1  
     1 1  0   0       0   0  
  0  1   0       0   0   1  

  
 0  0   0      0  
 1  0   0      0  
 0  1   0      0  
 1  1   0      0  
 0  0   1      0  
 1  0   0      0  
 0  1   0      0  
 

          .........  
   1      0  0  0  
 0  0   0      1  
 1  0   0      1  

 
 
 
 
 
 
 
 
 
 

    dda -3 
    dda -3 
    dda -3 
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  1  1   0       0   0   1  
  0  0   1       0   0   1  

 

 0  1   0      1  
 1  1   0      1  

    dda -3 
 
 
 

3 fo elbat hturT  .II elbaT - gnidda eht htiw redda tib -  3
.snoitcerroc  

 
 on si ereht ,0=1C fI .tnuocca otni 1C eht ekat s’tel ,woN

3 eht fo tluser eht ot egnahc -  fi ,revewoH .redda tib
3 eht fo mus eht ot dedda eb ot sah yrrac eht ,1=1C -  tib

 etag RO evisulcxe na yb dezilaer si noitidda sihT .redda
3 eht fo stuptuo eht fo hcae ta rexelpitlum eno dna -  tib

s eht dna 1=1C fi ,revoeroM .redda  si )1B+1A( fo mu
 redda DCB eht fo tluser eht ,4=2)0010(=1F2F3F4F

:ot lauqe eb dluohs  
 
C[ tuo S3S2S1S0 F( = ] 4F3F2F1 C+ 1 F+2×) 0 

         F+2×)1+0010(= 0 
         F 101(= 0)2 

                     F 000 1(= 0) DCB  
 

eht si tuoC ,redda DCB eht fo yrrac eht ,esac siht nI  
 fo mus eht dna 1=1C redda lluf eht fo yrrac eht sa emas
 snoitisop tib eht ta 0 ot decrof eb ot sah redda DCB eht

  .1S dna 3S fo  
  eht ,evoba denoitnem soiranecs eht lla gniredisnoC

nehw 4F ot lauqe si redda DCB eht fo yrrac lanif  
)1B+1A( gnidda retfa 0=3F esac siht ni( 5≥ -  3

)1B+1A( nehw 1C ot lauqe dna ,)noitcerroc  siht ni( 4≤
 ot desu eb nac rexelpitlum eno ,suhT .)1=3F esac
 swohs 6 .giF .redda DCB eht fo yrrac lanif eht etareneg
 ehT .redda DCB devorpmi eht rof ngised detelpmoc eht

tfel tsom -  eht rehtie tceles ot desu si rexelpitlum edis
3 eht fo yrrac - )1B+1A( rof 4F redda tib  dna 5≥

 rof 1C redda lluf eht fo yrrac eht ro ,4<)1B+1A(
 rednu redda DCB eht fo mus eht ecrof oT .4=)1B+1A(

2)001( = )1F2F3F( = )1B+1A( fo noitidnoc eht  
1=1C htiw 1 htiw etag DNA eno , -  si detrevni tupni

.1S ro 3S fo snoitisop tib eht ni detcennoc  
  6 .giF ni nwohs erutcetihcra ruo fo tnemevorpmi ehT

 ruo taht si 4.giF ni nwohs ]8[ ni desoporp eno eht revo
 rexelpitlum owt dessapyb sah hcaorppa desoporp

rc eht ni syaled  ecneh ,redda DCB eht fo htap laciti
yrrac eht decuder -  sah sihT .yaled noitagaporp

 ezis egral fo ecnamrofrep eht no tcapmi tnacifingis
.sreilpitlum dna sredda DCB  

 

 
1 DCB devorpmI  .6 giF - redda tigid . 

.VI  STLUSER NOITALUMIS  
 

 
reddA DCB lanoitnevnoC :7 giF  

 

 
elbuoD :8 giF - reddA DCB elbbiD  

 

 
1 DCB :9 giF - reddA tigid  

 

 
1 DCB devorpmI :01 giF - reddA tigid  

 
:elbaT noisirapmoC  

 
 

 fo sepyT
 DCB
sredda  

 
anoitnevnoC
redda DCB l  

 
elbuoD - lbbiD

redda DCB e  

 
 DCB

1-  tigid
redda  

 
 devorpmI

1-  tigid
 DCB
redda  

 
 rebmuN

sTUL fo  

 
21  

 
21  

 
21  

 
01  

 
)sn(yaleD  

 
sn513.11  

 
sn722.01  

 
n381.01

s 

 
sn971.9  
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xE - :sredda DCB gnisu noitidda 3  

 
               :1elpmaxE  

   
                                                       ssecxe gnisu -  3  

                                                             noitidda  
               4 - 1110      7 =3+4               0010  
               3 -                      0110      6 =3+3               1100  

                   1011                                 1110  
                                                 7            31  

: 2 elpmaxE  
 

                                                        ssecxe gnisu -  3  
                                                                               noitidda  

                 7 - 0101      01=3+7                 1110  
                 6 – 1001        9 =3+6                0110  

                     1100  1                                 1011  
                                                 6 dda - 0110    >  

                      1001  1                                    31  
                                                                  9      1  

                     

 
ssecxE gnisu tluser noitalumiS :11 giF - .noitidda 3  

 
:elbaT noisirapmoC  

 
 reddA

sepyT  
anoitnevnoC
 redda DCB l

xe gnisu -  3
noitidda  

elbuoD - lbbiD
 redda DCB e

xe gnisu -  3
noitidda  

 devorpmI
1-  tigid

 DCB
 redda
 gnisu

xe -  3
noitidda  

 fo.oN
s'TUL  

22  22  91  

sn(yaleD
) 

sn513.31  sn591.21  sn867.11  

 
 

SNOISULCNOC  
 no desab redda DCB devorpmi na detneserp repap sihT
 DCB desoporp ehT .serutcetihcra AGPF xniliX rewen

iciffe hcaorppa redda  noitidda lamiced eht deppam yltne
6 eht otno noitcnuf -  yrrac tsaf eht dna sTUL tupni

 sah redda eht fo htap lacitirc ehT .sAGPF ni sniahc
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